Date: H2/i3 _ L& Absl Conweraen. Page | of 3
dué ute ce
Ratie, Bt 4o 4.

A seres  Zan O sad P be Conve
xf e serres 2 lan| Convergeo.

BlThe sres ZED" &+ 4 alav&A»:éj conempnt becanre
20 Wl T, whidk b oo cowergyd  psens,

B2 TThe a\‘krm’m‘j Mrmomc U net abs‘r&deé' waer;e/l“' becaie
TIor Kl = T, W divenps.
Def A serres Zan is sad to be conditn canverged,
'\F 2 on Convern, but  pat a-loSafukl:’.
Theoven If o seres Zan U qlsolw cnwrfu“s Ben T+ U
Corverprt K
?Logf 0 ¢ 0n t+ la,| ¢ 21an]. Thue bj Comparison Test, the
Senes Zlan+)an]l) U albo Converpnl. So
S (antlanl) - Zla = T a.

Ex2Z The serves = U Comve'?ll\t‘
whon Ces n as n |
2 ne = 2 ne
ad lesnl 21 = |7/ wos el by T

2z ‘a’::\ Conwergls =D ax eorvemes
Te Linor L+ bm|@|-L

) Tf L<l, e e seres Zan b absluidy  comerpnt
w) IF L2) or L=oo, Han The seres Tao i divergant

'ﬁisif L=\ the 1 O inmcldive; we dost know whethe
S an  Convergs o dverph.




Date: Fe/n Page Zof 3

n'\

Y dﬂfaaa\'f-
Sdutton
oo . (3 nl . aDnsY !
A (h 1)t n" (i) n? = p7
=(%\ﬁ‘)n=(l*’#>n"-9€7l s n—>o0
> Ratio Test

= He <se,res AN&Z‘J.
The Reot "\'Te_s\- lex hm.\_“. Hi\a,[ i T

QIFL<\;%'W0$2*KA T an o absAu ccvwe?znﬁ
‘u)Tf E 21 we L=, than The s2r1es o dwergod'-
i) I L=, Hun tha Rt et G jnenclwive.
Bl The Seres L (2'3";.‘%,3—1
2nt 3 - 2nt3 ..?‘ﬁ’.‘ —s 2
On® Jnez iy Mol = B = I+ z < )
= the serw Converge by fhe Root Test
?rmﬁle
1) T W2 AS D
) T c;s(np/s)
i
D v %%
IJ‘I._’_| ()
L” z (Zn‘fl
5% (actan n)"
Sin n e
1) 2 < 2 =) AC

2) ‘a.,,.( | oslna Nws)

; - \eeslinOmz]) )
70 A T Cos(nf*m\ E \* ' \

Cos(WTC/3) Gl
2 Y

s



Date: 3/2)r3

<2h)'.
2 7 oy
. (emo)
om _ [20n0)]) (D) !  (n1)?
an T[] T (27! MY (2R

- 202 +\n) s 45|

-) E

4) Alanl = N1 - 3 <\ = Converg

2 +|

5) Ml = orctinn — T\ "’M

Page 3 of 3

2(2n41)

N+



